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COMPUTER FOR BUSINESS
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N.B. :— (i) Question No. 1 is compulsory.

(ii) Use of simple calculator is allowed.

(iii) Figures to the right side indidcate full marks.

(i)

(ii)

(iii)

1. Explain the concept of MS-Word in detail. 20

2. Explain the concept of MS-PowerPoint in detail. 15

Or

Convert the following numbers as directed :

(a) (1000)10 = (?)2

4D4B1699F50A9302F5C680F89086436F



4D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F

4D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F

4D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F

4D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F

4D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F

4D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F

4D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F

4D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F

4D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F4

D
4B

16
99

F5
0A

93
02

F5
C68

0F
89

08
64

36
F

WT (    2    ) LA—105—2023

(b) (3500)10 = (?)8

(c) (5400)10 = (?)16

(d) (11101)2 = (?)10

(e) (110011)2 = (?)8.

(a) (1000)10 = (?)2

(b) (3500)10 = (?)8

(c) (5400)10 = (?)16

(d) (11101)2 = (?)10

(e) (110011)2 = (?)8.

3. Define computer and explain input devices. 15

Or

Explain the concept of MS-Excel in detail.

4. Explain the advantages and disadvantages of Social Networking. 15

Or

What is Social Networking ? Explain importance of Internet.
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5. Write short notes on any two of the following : 10

(a) Output devices

(b) WWW

(c) E-mail

(d) E-Commerce.
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